Question 1

A company has 1,000 employees, each of whom is entitled to ten days of paid sick leave in each calendar year. Unused sick leave at the end of each year may be carried forward for up to one further calendar year. Sick leave is taken first out of the current year's ten-day entitlement and then out of any unused entitlement brought forward. At 31 December 2019, the average unused entitlement is six days per employee. Based on past experience, the company expects that 85% of employees will take no more than ten days sick leave in the forthcoming year but that the remaining 15% of employees will each take an average of twelve days.

Required: Assuming an average cost to the company of £120 per day of paid sick leave, calculate the liability which should appear in the company's statement of financial position at 31 December 2019 in relation to paid sick leave.

Question 2
Prentiss plc operates a defined benefit pension plan and prepares financial statements to 31 March each year. The financial statements for the year to 31 March 2019 showed that the present value of the defined benefit obligation on 31 March 2019 was £140m and the fair value of the plan assets on that date was £147m. The following information relates to the year to 31 March 2020:

(i) The company made contributions of £18.4m into the plan. Employee contributions were £7.3m.

(ii) Benefits paid in the year were £19.6m.

(iii) The return on plan assets (before deducting interest income) was £5.9m.

(iv) The present value of the current service cost for the year is estimated at £19.2m.

(v) The interest cost for the year was £9.8m and interest income was £10.3m.

At 31 March 2020, the company's actuary estimated that the present value of the defined benefit obligation was £158m. The fair value of plan assets was £159m.

Required: Financial statement effects for all three years.

Question 3

A company which prepares annual accounts to 31 December has operated a defined benefit pension scheme for many years. The scheme is non-contributory (i.e. employees are not required to make contributions). At 31 December 2018, the company's statement of financial position showed a defined benefit liability of £575,000, made up as follows:

	
	£’000

	Present value of defined benefit obligation 
	2,430

	Fair value of plan assets 
	1,855

	Defined benefit liability 
	575


The following figures relate to the year to 31 December 2019:
	
	£000

	Present value of current service cost for the year 
	415

	Interest cost 
	170

	Interest income 
	130

	Return on plan assets (before deducting interest income) 
	235

	Employer contributions 
	450

	Benefits paid 
	375

	Present value of defined benefit obligation at end of year 
	2,760

	Fair value of plan assets at end of year 
	2,165


Required: Calculate the defined benefit expense for the year to 31 December 2019. Also calculate the defined benefit liability (or asset) which should be shown in the company's statement of financial position as at that date.

Question 4
The following relates to Veterans Retirement Benefits Scheme, a defined benefit plan for the years ended 31 December 2015, 2016, and 2017: 

	Details
	2015

	2016

	2017

	Discount rate on January
	10%
	9%
	8%

	Expected rate of return on plan assets on January
	12%
	11.10%
	10.30%

	Average remaining service life of employees in the scheme (years)
	10
	10
	10

	
	FRw ‘000
	FRw ‘000
	FRw ‘000

	Current service cost 
	130
	220
	150

	Past service cost 
	100
	120
	110

	Benefits paid 
	150
	180
	190

	Contributions to the scheme 
	90
	100
	110

	Present value of plan obligations as at 31 December 
	1,141
	1,197
	1,297

	Fair value of plan assets as at 31 December
	1,092
	1,109
	1,093


Additional information
(i) As at 1 January 2015, the present value of plan obligation and fair value of plan assets were both FRw 1,000,000

(ii) Net cumulative actuarial gains as at 1 January 2015 were FRw 140,000

(iii) Assume all transactions occurred at the end of year

Required:
(a) Actuarial gains or losses on present value of plan obligations and on fair value of plan assets 

(b) Net pension cost charged in statement of profit or loss & other comprehensive income.
